Segment and Angle Addition

MATH

MONKS

1) B is the midpoint of AC. Solve for x.

k—2x + 1—%— 3x - 3 —
° ° °
A B C

X

2) LN = 60. Find LM and MN.

49 m~LQOR = 5x -1

m4£LPOQ = 2x
mZPOR = 111°

K 2x K 4x + 6 —
[ . 2 o
L M N
M=
MN=
3) Solve for x
k 5x S x+ 2 —3
[ 4 @
P Q R
k 20 3

5 mZLAOC = 60°, m£BOC = 28°.
Find m£ZAOB.
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Segment and Angle Addition

Answers

MATH

MONKS

1) B is the midpoint of AC. Solve for x.

k—2x + 1—%— 3x - 3 —
° ° °

49 m~LQOR = 5x -1

mZPOQ = 2x
m£ZPOR = 111°

A B C
x=____4 _ __.
2) LN = 60. Find LM and MN.
k 2x 3N 4x + 6 —
[ . 2 o
L M N
M= ___ 18
MN=__ 42
3) Solve for x
k 5x S x+ 2 —3
[ 4 @
P Q R
k 20 3

5 mZAOC = 60°, m£BOC = 28°.

Find mZAOB.
A
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mZAOB = 32°




